
SAP ABAP table T5UG4 {Rules for Calculation of the Non-Exempt Amount}

T5UG4

MANDT [CLNT (3)]

CNTRY [CHAR (3)]

STATE [CHAR (3)]

ORDCD [CHAR (2)]

RULID [CHAR (3)]

ENDDA [DATS (8)]

DNMOD [CHAR (4)]

NEMOD [CHAR (4)]

T000

MANDT [CLNT (3)]
 T5UG4-MANDT = T000-MANDT 

0..N

1

T005

MANDT [CLNT (3)]

LAND1 [CHAR (3)] T5UG4-CNTRY = T005-LAND1 0..N

1

T005S

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

BLAND [CHAR (3)]

 T5UG4-STATE = T005S-BLAND 
0..N

1

T5UG0

MANDT [CLNT (3)]

ORDCD [CHAR (2)]

 T5UG4-ORDCD = T5UG0-ORDCD 

0..N

1

T5UG3

MANDT [CLNT (3)]

NEMOD [CHAR (4)]

 T5UG4-NEMOD = T5UG3-NEMOD 

0..N

1

T5UG5

MANDT [CLNT (3)]

DNMOD [CHAR (4)]

 T5UG4-DNMOD = T5UG5-DNMOD 

0..N

{0,1}


